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Thanksgiving Addition

Solve the following word problems.

John has 2 Thanksgiving turkeys. His mom gives
him another one. How many turkeys does John
have now?

Emma naked 3 pumpkin pies for Thanksgiving. She
baked 2 more later. How many pumpkin pies did
Emma bake in total?

There are 4 apples on the table for making apple
pie. If mom adds 1 more apple, how many apples
are there in total?

Lucy has 1 cranberry sauce can for Thanksgiving.
She buys 3 more. How many cranberry sauce cans
does Lucy have now?

There are 2 pumpkin pies and 2 apple pies on the
Thanksgiving table. How many pies are there in
total?

If John baked 2 pumpkin pies for Thanksgiving
and then he baked 3 more, how many pies did he
bake in total?

There are 3 guests at the Thanksgiving dinner. 2
more guests arrive. How many guests are there
now?

Tom baked 2 pecan pies for Thanksgiving. His
sister baked 2 more. How many pecan pies do they
have in total?
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